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Problem quickname: 6912

L) Quick:

6912
For every clock face shown in the first row, there is a corresponding clock face in the

second row that shows the same time. Find these pairs!
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For every clock face shown in the first row, there is a corresponding clock face in the

second row that shows the same time. Find these pairs!
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For every clock face shown in the first row, there is a corresponding clock face in the
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second row that shows the same time. Find these pairs!

C3

-
c3

3
L0
£2

4)

For every clock face shown in the first row, there is a corresponding clock face in the
second row that shows the same time. Find these pairs!
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Good Luck!
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